[ Efficiency vs vertpos |
~ 0.8

0.7
0.6

0.5

efficiency vs ver

0.4
0.3f

0.2

I ERLUSSU S SRS S

Q—* ------------ “ ------------
*++++++;+++w*;¢++ﬁ

Ratio
bl

0.

(%))
=

*ﬁﬁhﬁ'ﬁ;@'ﬁ;‘%;ﬁ'Jr g

1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_original_stepZ_libar-phasel-newgeom
M_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQ
Efficiend —— D8M_pixelCPETempIateCut hiSquare5_step2_ttbar-phasel-newgeom
—+— D

M_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
~N 1.2
-

IR SUNUNS P S

e Lo ot o S

efficiency vs ver

0.6f ekl

o

. .Jr+,r+++,,,+;+ﬂ _,,+.+ “I' H .

0.2 -eeebeees

Tpooooosooooloos Y T ITIETED)

..........

T T
z e

Ratio
O
iy
—'—‘
o
i
EF

............

S "E{'};@#@;ﬁ+‘+ﬁf 1
-30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

S S At S S S S

0.8

USRI

efficiency vs Sim. PV z

oL AT

PluPd

T
ﬂ_
%
g
-

Ratio

++w++*¢+ -----
20 -5 =105 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


